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1. 7 0, 1 F1 T Jarates gge §, a@
l-w
0 +0?

(a) \3
®) V2
(© 1

4
()] N

HHAA TG ?

LFad 0, 1,2, 3, 4 3R 5 & (TS H
T R) SUENT X 6 3ihi arell UHt
forat deaTq & TS S weRdt € S 6 @
=T ' ?

(a) 96
(b) 120
) 192
@ 312

.MEd @ 1011 & g fg-smawt
TS TR ?

(@) 1011

(b) 111011
(c) 11111001
(d) 111110011

. | ST 4 T 3x3 Hife &1 3Tge &
3R [4]=4 B | TR |2 adj(34)| =23P
R W(a+f)MAA TR ?

(@ 12
(b) 13
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(c) 17

d 24

5.9f¢ o 3R B EAHT 2 —x+1=0%

Q% 4 g100
1% _ gio0

& @
A
(@) 3

(b) 2
() 1

&l HE 1

1
@ B

6. 79 WISl 4 3R B GAE Hfe &

wafia smegg €, O (4B - BA) % 6ed
iR i sm-arT a7

1. Zaht ool wiafear qam afe=
AR B

2. 3qh  IR-ferepof (Non-diagonal)
wiafiat w1 dnrer = R

T fou U e @ A R EE SW
& 999 HifSg :

(a) Fat1
(b) *ad 2

(c) 13R 2t
(d FaTL, 9@ 2



1. If @ is a non-real cube root of 1, then

what is the value of 1-(02 7
0+
@ 3
(b) V2
(c) 1
4
(d) B

. What is the number of 6-digit numbers
that can be formed only by using
0,1, 2, 3, 4 and 5 (each once); and
divisible by 6 ?

(a) 96

(b) 120

(c) 192

d) 312

. What is the binary number equivalent
to decimal number 1011 ?

(@) 1011
(b) 111011
(c) 11111001

(d) 111110011

. Let A be a matrix of order 3x3 and
|d|=4. If |2adj(34)|=2935, then
what is the value of (a+f)?

(a) 12

(b) 13

) 17

(d) 24

. If a and B are the distinct roots of

equation x2 —x +1 =0, then what is the

alOO B ﬁ100|

value of |[———
1% _ gi00

@ 3
®) V2
(c) 1

1
@ 3

. Let A and B be symmetric matrices

of same order, then which one of
the following is correct regarding
(AB—-BA)?

1. Its diagonal entries are equal but
nonzero

2. The sum of its non-diagonal
entries is zero

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2
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7. T R nh TS F AE 4, B, C

& Hed § frafafee w0t —® fmR

Hf
1. AB=AC= B=C,3fs A qcwuvita
?

2ﬁm%nﬁﬁﬁﬁaﬁ?ﬁﬁlaﬁﬁh¥%
fuBxX=Ccx % @AB=C

Idh wAAl § wE-A1/3 qEH R/ ?
(a) ¥ 1

(b) Fa 2

(c) 1 3R 2 QA1

(d) AL, A2

8. faw witmwr e x+2y+z=4,
2x+4y+2z=8 3R 3x+6y+3z=10
FT/F

(a) AT & @
(b) FARMT & §

(c) &% & TEl ©
(d) Wi I ' €

.HF AT AX = B, 3 3@ & @¥
3 ae it &1 e R | wW
g X, 3R X, 390 @ B a1 €1
R aX, +bX, 1 GASH, AX=BEH T&
T ®, STl ¢ R b awEqfas gAY ¥,
q fFrafofea & & S9-w1 fees @&
e

(@) a=b

(b) a+b=1
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10.

11.

12.

() a+b=0
d) a-b=1

0 x-a x-b
0 0 xX-c
x+b x+c 1

%qgvﬁammw%?
{(a) a+b+tc
(b) a-b+c

(c) atb-c

TR =0

d a-b-c

afe 2-i/3, W&l i=+/-1 ©, wHER
Pt+ax+b=07F T qq ¢ aq (a+b)
HAFFTE ?

(a) -11
(b) -3
() 0
@ 3

'Qﬁzl-*-l:j———ml'\/—%ﬁ

z T I T § 7

s

b) = -

(9 3

W =



7. Consider the following statements in (c) a+tb=0
respect of square matrices 4, B, C each

of same order n : @ a-b=1
1. AB=AC = B=C if A is non- 10. What is the sum of the roots of the
singular Lk
2. If BX=CX for every column cquation i @ 0 x—c|=07?
matrix X having n rows then x+b x+c 1
B=C
(@ a+b+c
Which of the statements given above
is/are correct ? M) wote
c +b-
(a) 1 only e €
d a-b-c
(b) 2 only
(c) Both 1 and 2 11. If 2—-i+/3 where i =+/-1 is a root of
: the equation x2 + ax + b = 0, then what
(d) Neither 1 nor 2 is the value of (a +b) ?
(a) -11

8. The system of linear equations
x+2y+z=4,2x+4y+2z=8 and (b) 3
3x+§y+3z=10 has © 0

(a) a unique solution @ 3

(b) infinite many solutions

_1+iV3

(c) no solution 12. If z= where i=+/-1, then
1-i\3
(d) exactly three solutions what is the argument of z ?
: n
9. Let AX=B be a system of 3 linear (a) 3

equations with 3-unknowns. Let X;
and X, be its two distinct solutions. If

the combination aX;+bX, is a (b) -
solution of AX = B; where a, b are real 3
numbers, then which one of the h
following is correct ? (c) 5
@ a=0b . £
(b) a+b=1 ) 6

5 A - ASGT-B-GNL



13.3f¢ a,b,c APHED

14.

15.

16.

x+1 x+2 x+3
xX+2 x+3 x+4
X+a x+b x+3

forersh sRIeR & 7

(@ -1
(b) O
ey 4
(d 2

afg log,a, a* 3R log,x, GP ¥ §, @
x Toraeh SRR % 7 '

(@) log,(logya)
(b) logy(log,b)

(C) loga (IZOgb a)

(d) logb(IOga b)
¢
v:f%;z%, 2“%, 2% GP# § o famfafaa
AI-TMTE TR ?
@) a,b,c, APH E
(®) a,b,c, GPH &
(c) a,b,c, HP ¥ §
(d) ab, bc, ca, AP H &

TS AP & Ugell 3R GO UG AN

%3ﬁ'( %%%l afe n & 9 geuH
SHUITCHS 9C §, A n & A T & ?

@ 5
(b) 6
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17.

18.

19.

fe) 2
(d) n fdiha =& forar s @@

k% fra quifer AT (integral values)
F fau wfieRo x2—dx+ k=0, g
k of wem ®, ¥ awatis q@ § R
TF T SR (0, 5)H E ?

(@) 3

(b) 4

(c) 5

@ 6

TE AP ¥, qsmqax%/aﬂtqzﬁ
nﬁmmﬁﬁ%lmmqﬁ
T TRl T § ?

(a) mx(m+n)
n—1

(b) mx(m+n)

1-n

© nx(m+n)
m—1

(@) Eya)
1-m
Frafafea waat w f=rR Hif
1. 25! +1,26 ¥ w19 @
2.(6)!+1,7 AT &
ST FUAl H w1 /& W R/
(a) &ad 1
(b) Fa 2
(c) 13R 23t
d T 1,982



13.

14.

15.

16.

If a, b, c are in AP, then what is

x+1 x+2 x+3
x+2 x+3 x+4| equal to ?
x+a x+b x+3 '

(@ -1
(®) 0
© 1
@ 2

If log,a, a* and log,x are in GP, then
what is x equal to ? '

(@) log,(logya)
(b) log(log,b)

(C) Ioga(IOgb a) .

2
(d logy(log, b)
2
e
If 2¢, 29, 29 are in GP, then which

one of the following is correct ?
(@) a, b, c are in AP

(b) a, b, c are in GP

(c) a, b, c are in HP

(d) ab, bc, ca are in AP

The first and the second terms of an
AP are 3 and 2 respectively. If n™

term is the largest negative term, what
is the value of n ?

(@) 5
(b) 6

17.

18.

19.

() 7

(d) n cannot be determined

For how many integral values of k, the
equation x2 —4x + k=0, where £ is an

integer has real roots and both of them
lie in the interval (0, 5) ?

(@ 3
(b) 4
v e
@ 6
In an AP, the first term is x and tﬁe

sum of the first » terms is zero. What
is the sum of next m terms ?

(@) mx(m+n)
n—1

(b) mx(m+n)
1-n
© nx(m+n)

m—1

d) nx(m+n)
1-m
Consider the following statements :
1. (25)! + 1 is divisible by 26
2. (6)! + 1 is divisible by 7

Which of the above statements is/are
correct ?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — ASGT-B-GNL



20.wﬁz@ﬁﬁaﬁaé@r%%j—:

21.

22.

J&a: Aftwfera R, @ |z| frad swaeR
R

(@)

(b)

= W N -

(c)
(@ 2

fraft  awafes  wead  wtewRe
|x—4|+[x—7| =15l HIC FeAl € ?
(a) el TH

(b) Fad q

(c) e i

(d) s=fEa

T& %o f: 4 — B 38 YR qienfyg

2 %f(x)=2x+3, xed g 3l
3x+5

f ATBEH ®, a1 4 3R B fFad xR

2?

(a) 4=R\{-3} 3R B = R\{-2}
(b) 4 =R 3R B =R\{-§}
(c)i A =R\{-3} 3R B = R\{0}

(@ 4=R\{-§} 3R B =R\{?}
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23, aaﬁwﬁmzﬁwwﬁw;im”bw

24.

25.

¥ firs Tt 7w § | o PufRa =
& fou freafafea % @ S-wr/a =
e 2 /€ ?

1. a+B =0, a2+p2=2
2. ap2==1,a=0

N U 0 F = o W g oW
e :

(a) wad 1
(b) Hae 2
(c) 13R 22
(d I 1,782

afq (x—% +x%log,, x)s % foug wewwr &
VAT Ig 5600 ¥, T x HT A F1 & ?
@ 6

(b) 8

© 9

@ 10

Bx—p)Hx+3y)* & wwor # frew ug
g7

@ 9

(b) 12
(e). 15

@ 17



20. If z is a complex number such that

21.

22.

z-1
=1 is purely imaginary, then what is

|z| equal to ?

N | —

(a)

2
()3
() 1
) 2

How many real numbers satisfy the
equation |x—4|+|x-7| =15 ?

(a) Only one

(b) Only two
(c) Only three

(d) Infinitely many

A mapping f:A—> B defined as

2x+3
x =
/@ 3x+5

then what are 4 and B equal to ?

,x € A. If f is to be onto,

(8) 4=R\{-3} and B = R\{-%}
(b) 4 =R and B =R\{-3}
(c) 4=R\{-2} and B = R\{0}

(d) 4=R\{-3} and B = R\{%}

23.

24,

25.

a and B are distinct real roots of
the quadratic equation x2+ ax+ b =0.
Which of the following statements
is/are sufficient to find o ?
l.a+B=0, a2+p2=2
2.ap2=-1,a=0

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

If the sixth term in the binomial ex-

, 8
=
pansion of (x' 3+ x% log,, x) is 5600,

then what is the value of x ?
(a) 6
(b) 8
© 9

(d 10

How many terms are there in the
expansion of (3x — y)*(x + 3y)* ?

@ 9
(b) 12
© 15
@ 17
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26.p,q,r3ﬁTsAPﬁ'3HW%ﬁi

27

28.

p+s=8 AR gr=15 2| G &
AR qad BIE FEAT F S HR TG ?

@) 6
(b) 5
(c) 4

d 3

fra agt e 1 % R frafiea

FAt | fer A
C(n,r)ﬂ%?m%zﬁn=2r%

2 C(n,r)qm%qﬁn=2r—l3ﬁ1
n=2r+1%

ST FAA § H-A1/F WG R/ ?
(a) ad 1

(b) Fa 2

() 13R23t

(d FA 1,982

m FAIGR @Y, n @IS w1 wredt §
IR T 60 TR I T A ¥ |
(m+n)FMAAHTE ?

(a) 6 |

(d) 7

) 8

@ 9
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10

29. A WIWT e ‘PERMUTATIONS’
& wHEAl hl G x g IR U=
‘COMBINATIONS’ & R4l sl H&AT
b, g s sm-aradi & 2
@ x=y
b y=2
(c) x=4%

(d y=4

30.3% 0, 1, 2,4, 59, TREf g fom

5-3(h1F F&AT S[1E ST © | 50,000 /
It gemet it wieraan feat € ?

(a) 20%
(b) 25%

110

@ =%

AR 3 AT 3T (02) vt & forg faforfaa
R fer fifsg .

HH Fﬁﬁm sina 3R cosq &I GM, sinf 2
3R sing AR cosa FT AM, tany %

31. cos2p T sReR ® ?
(@) (cosa Z sina)?
(b) (cosa + sina)?
(c) (cosa — sina)?

(cosa— sinoz)2
2

(d)



26.

217.

28.

p, g, r and s are in AP such that
pts=8 and gr=15. What is the
difference between largest and smallest
numbers ?

(@ 6
() 5
(c) 4

(d 3

Consider the following statements
for a fixed natural number 7 :

1. C(n, r) is greatest if n=2r

2. C(n, r) is greatest if n=2r — 1 and
n=2r+1

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

m parallel lines cut »n parallel lines
giving rise to 60 parallelograms. What
is the value of (m +n) ?

(@ 6

(b) 7

(c) 8

d 9

29. Let x be the number of permutations of
the word ‘PERMUTATIONS’ and y be
the number of permutations of the
word ‘COMBINATIONS’. Which one
of the following is correct ?

(@ x=y
b) y=2x
© x=4y
@) y =4

30. 5-digit numbers are formed using the
digits 0, 1, 2, 4, 5 without repetition.
What is the percentage of numbers
which are greater than 50,000 ?

@) 20%
(b) 25%

100
3

© =%

Consider the following for the next two .
(02) items that follow :

Let sinf be the GM of sina and cosa; tany
be the AM of sina and cosa.

31. What is cos2f equal to ?
(a) (cosa — sina)?
(b) (cosa + sina)?
(c) (cosa — sina)?

(cosa —sin oz)2
.

(d)

A — ASGT-B-GNL




32. sec2y 1 HME HT 7

3—-sin2¢
5+2sin2

(a)

S5+sin2c
3-sin2a

(b)

3-2sin2x
4+sin2¢

©

3-sin2a
4 +3sin2a

(d

W T AT QY (02) AT & forg Freafafea
R =R s .
10m 3= T G T 20 m 91 U &I97aU8

= R S e & fRet fog PR tan(0-5)
HT IARa F=aT ® | W o @W R 36

fag P W siafa @ o @ |
BaAR W F@APH P x g, @
frrafofaa st | fer Hifo .
LxF YA RIS, S 1:3 &
FqaTa # €
2. x SIGUS H FAE F TR B
qadl ©

ST FAA H BA-E1/H W R/ ?
(a) a4 1

(b) &ad 2

(c) 13R 23t

(d) A1, TE 2
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34. Tan0 &1 GWIfed AF =T ?

(@)

SV I S SER  H{ I

(b)

W | -

©

(d)

=

AW AW AT QY (02) WeAT & forw Frafefaa

& P 4BC &1 uftam, B & @it &
sinea?AM‘d»'T6’ﬂ?|T%l EGE TGl
BC=+33RCc4=1%|

35. B &1 ufmg Far @ ?
(a) \V3+1
(b) 3+2
(©) V3+3
d) 2v3+1

36. frafafea Famt w faer fifvg :
1. ABC awaIvia B ®
2. Pt & For 4P H
S o # a/d w28 0
(a) Fqd 1
(b) a2
(c) 13K 23t
(d) FarT 1,982



32. What is the value of sec2y?

3—sin2¢
@) Si2sm2a
5+sin2a
() 3-sin2a
3-2sin2¢
4 +sin2¢

©

3-sin2
4+3sin2a

(d)

Consider the following for the next two
(02) items that follow :

A flagstaff 20 m long standing on a pillar
10 m high subtends an angle tan~!(0-5) at a
point P on the ground. Let 6 be the angle
subtended by the pillar at this point P.

33. If x is the distance of P from bottom of
the pillar, then consider the following
statements :

1. x can take two values which are in
the ratio 1 :3

2. x can be equal to height of the
flagstaff

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

13

34. What is a possible value of tan6?

(@)

W Hlw

(b)

(©

W | =

(d

=

Consider the following for the next two
(02) items that follow :

The perimeter of a triangle ABC is 6 times
the AM of sine of angles of the triangle.

Further BC=+/3 and C4=1.

35. What is the perimeter of the triangle ?
@) 3+1
(b) 3+2
(©) V3+3
(d) 243+1

36. Consider the following statements :
1. ABC is right angled triangle

2. The angles of the triangle are in
AP

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A - ASGT-B-GNL



IR ST A QY (02) W & forg Frefafea
‘Rﬁ’qﬂﬁﬁﬂ!

LR 2
AR 4
5d sin“A4 .s1nA+1’
sin 4

el 0<As%%

37. x &1 AW A 1§ ?
(a) 1
(b) 2
(c) -3
@ 4

38. 4 & for WM W, x 1 AW A ® ?

(a)

K]

(®)

A~

w|y

(©

@ 3

FA W AT 3 (02) Tt * forw frferfaa
R faR fifsg _
ﬁl‘ﬁWABC q, a*+b*+c* =ac+~3bc

39, Bryyst o1 w@eq R 7

(a) EHETE
(b) wfgaTg
(c) Twaia Fragst

(d) ﬁm‘gﬁrﬁﬂwﬁvﬁuaﬁ

ASGT-B-GNL - A

40. 3% c =8 %, A Pregst @1 doreer T & 2
@ 43
b) 63
) 83

@ 1243
IR W A QY (02) W F g FrafaRaa
R fErR $ifsa .

B f(x)=|x-2|+[3-x|+|4-x|, I
x € R &, R fur $ifsw .

41. x & foFm 99 R woW <FAH AW W
AT ® ?

(@) 2
(b) 3
() 4

(d 0

42. B T AqH HE 1L ?
(@) 2
(b) 3
(c) 4

@ 0



Consider the following for the next two
(02) items that follow :

_ sin?A+sin4+1 n

Let x - where 0<A4A<—
sin A 2

37. What is the minimum value of x ?
(a) 1
(b) 2
(c) 3
(d 4

38. At what value of 4 does x attain the
minimum value ?

b/
@ &
/1
® 7
T
© 3
@ 3

Consider the following for the next two
(02) items that follow :

In the triangle ABC,
a2 +b%+c* = ac+3bc

39. What is the nature of the triangle ?
(a) Equilateral
(b) Isosceles
(c) Right angled triangle
(d) Scalene but not right angled

15

40. If ¢=8, what is the area of the
triangle ?

(a) 443
(b) 63
(c) 83

d 1243

Consider the following for the next two
(02) items that follow :

Consider the function
f(x)=|x-2|+|3-x|+|4-x|, wherex € R.

41. At what value of x does the function
attain minimum value ?

(a) 2
() 3
(c) 4

@ 0

42. What is the minimum value of the
function ?

(@) 2
(d) 3
(c) 4
@ o

A - ASGT-B-GNL



IR I T A (02) WE F frg Frafafea
R femr Sifsm

AR S=01+11+21+31+41+. ...+ 100!
R fEr fifse .

43.afc 9w s+ 8 | fawfom forar sy,
A ANES FT TR ?
@ 0
®) 1
(c) 2
(@) T w6 forn s wepar

44. 3t arr S &t 60 ¥ T feran g,
Tt ATEH FT BN ?
(a) 1
(b) 3
(o) 17
@ 34

AW W AT 7 (02) WAt & forg Frmforfea
R far $ifvw

B POR #, P we® W@ ®W ® 3R
cosP=1 % | T afafes Bryst 1 sicda
9 ST PO, QR IR RP & FAW:
N, L 3R MR 30 YR @i &=a1 ¢ f& P,
QL 3R RM &t &aTE FAN: n, n+2, n+4
], 981 n T T €A § |

45. n o H TR ?
(a) 4
(b) 6
(c) 8
@ 10

ASGT-B-GNL - A

16

46. TSR DI o1 A Fars Rt ® 2
@ 12
() 14
© 16
@ 18
I S AR 2 (02) Wt F forg Freferf

R far $ifse .
farmn g &

sinx + cosx + tanx + cotx + secx +cosecx =7

47. fer v o @ fra wefiewor #
T (reduced) foRam ST e ® 2

(a) sin?2x—44sin2x+36=0
(b) sin®2x+44sin2x-36=0
(c) sin®2x-22sin2x+18=0

(d) sin®2x+22sin2x-18=0

48. af¢ sin2x=a-bJc ©, &l a AR b

g0 FEAT § 3R ¢ TF AN qE&AT
TMa-b+2c AT TG ?

(@ 0
(b) 14
(c) 21

(d) 28



Consider the following for the next two
(02) items that follow :

Consider the sum
S=01+11+214+31+4!+. ...+ 100!

43. If the sum S is divided by 8, what
is the remainder ?

@@ 0
(b) 1
©) 2

(d) Cannot be determined

44. If the sum S is divided by 60, what is

the remainder ?
(@ 1
(b) 3
(c) 17
(d) 34

Consider the following for the next two

(02) items that follow :

In a triangle POR, P is the largest angle
and cosP = % Further the in-circle of the

triangle touches the sides PQ, OR and RP
at N, L and M respectively such that the
lengths PN, QL and RM are n,n+2, n+4
respectively where » is an integer.

45. What is the value of n ?
(a) 4
(b) 6
(© 8
(d) 10

17

46. What is the length of the smallest
side ?

(@) 12
(b) 14
(c) 16

) 18

Consider the following for the next two
(02) items that follow :

Given that »
sinx +cosx + tanx + cotx + secx +cosecx =7

47. The given equation can be reduced to

sin? 2x—44sin2x+36=0

(a)

(b) sin?2x+44sin2x-36=0

sin?2x—22sin2x+18=0

©

sin?2x+22sin2x—-18=0

d

48. If sin2x=a—b«/z, where a and b

are natural numbers and c¢ is prime
number, then what is the wvalue of
a-b+2c?

@ 0
(b) 14
© 21
@ 28
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AW AW 9T o (02) WAt & forg Fafofea
Wﬁ?ﬂiﬁﬁQ

T feardta adfiemw saweR fear mar &
(3+2J5)x2-(4+26)x+(8+44§)=0

49. THIGRU F Hell H HM FT & ?
(@ 2
(b) 4

© 242
d 243
50. G¥iaRw & el w1 GM FT ® ?
(a) \/5(«/3—«/§+x/5—1)
®) V2(V6+3-+2-1)
© (V6-+3+42-1)
@ (V6+V3+42-1)

AW W 9T 3 (02) WeAT & fore Fraffea

= wiforg

a b ac+b
b c ba+c
ac+b bo+c 0

Aa, b, c, @) =

51.9f¢ A(g, b, ¢, @)=0 T TAF a>0
& forg fraferfaa & S-ar wdt 2 2

- (@ a,b,c AP %
-~ .(b) a,b.cGPHE

ASGT-B-GNL - A

(c) a,2b,c APH®
(d) a,2b,cGP ¥ §

52. 7R A7, 4, 2, @)= 07 o Frefirfea
ﬁﬁﬂ-ﬁ@ﬂﬁmm‘@(rcot)% ?

(@) 7x*+4x+2=0
(b) 7x*-4x+2=0
(© 7x*+8x+2=0
(d) 7x*>-8x+2=0
AW W AT QY (02) W F forg Frafafea
R foR Hifsg:
fe R & m(6) = cot?0 + n’tan?0 + 2n
el n U faa gione arafaes den @
53. m(0) &1 gATH HH TR ?
(@) n
(b) 2n
(c) 3n
(d) 4n
54. f5q wicey & sicfa m &1 7 W
B ? '
(@) n=tan%0
~ (b) n=cot?0
(c) n=sin%0

(d) n = cos?6



Consider the following for the next two
(02) items that follow :

A quadratic equation is given by

(3+2«[2—)x2—(4+2«/§)x+(8+4«/§)=0

49. What is the HM of the roots of the
equation ?

(@) 2
(b) 4

© 242
d 23

50. What is the GM of the roots of the
equation ?

@ V2(N6-3++2-1)
) V2(N6+3-+2-1)
© (V6-+3+42-1)
@ (Vo+3++2-1)

Consider the following for the next two
(02) items that follow :

a b ac+b
b & ba+c
ac+b ba+c 0

Let A(a, b, ¢, @)=

51. If Aa, b, ¢, a)=0 for every a > 0,
then which one of the following is
correct ?

(a) a, b, c are in AP
(b) a, b, c are in GP

19

(¢) a, 2b, c are in AP
() a, 2b, c are in GP
52. If A(7, 4, 2, a)=0, then « is a root

of which one of the following
equations ?

(@) 7x*+4x+2=0
(b) 7x*-4x+2=0
(c) 7x*>+8x+2=0

(d) 7x*>-8x+2=0
Consider the following for the next two
(02) items that follow :

Given that in(G) = cot?0 + n*tan’6 + 2n,
where n is a fixed positive real number.

53. What is the least value of m(8)?
(@) n
(b) 2n
(c) 3n

(d) 4n

54. Under what condition does m attain the
least value ?

(a) n = tan%0
(b) n = cot?0
(c) n =sin%0
(d) n = cos?6
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ST T AT A (02) W R Frefrfad
- R =R fifse .

@it x=0, y=0, x+y=13R 6x+y=3
U I S e |

55. fqu-@-fog (origin) ¥ TRA T
Terarot <t Tl T @ 2

(@ 3x+y=0
(b) 2x+3y=0
() 3x-2y=0

d 3x+2y=0

56. gER Tt &1 wiawo a1 @ 2
(@ x+2y-1=0
(b) x-2y-1=0
© 2x+y+1=0

@d 2x+y-1=0

AW 3 a1 QT (02) WAt & forg frafafea
R femr $ifse .

Qefe 2+ 42 =1 R FE g P, ) B |
7 I E, F e % P |

57. PE + PF foas sex & 7
(@ 1
(b) 2
() 3
(d) 4

ASGT-B-GNL - A

A5

IR fou wu fagst # SF-wn g &
e (latus rectum) W & ?

(a) wae 13K 2

(b) %aw 2 3R 3

(c) ¥as 13k 3

@) 1,29R 3

AW 3 AT 9 (02) WAl % forg freafefaa
R R fifvg -

[Wly=x 99 (x— a)’+*=a> N Q G &
Sedt §

59. AYEE FT SATA FT § ?

(7 -2)a?
4

(@)

(m—1)a?

g

(m-2)a®
2

(©)

(r—1)a?
2

(d



Consider the following for the next two
(02) items that follow :

A quadrilateral is formed by the lines
x=0,y=0,x+y=1and 6x+y=3.

55. What is the equation of diagonal
through origin ?

(@ 3x+y=0
(®) 2x+3y=0
) 3x-2y=0

@ 3x+2y=0

56. What is the equation of other diago-

nal ?

@ x+2y-1=0
b x-2y-1=0
(c) x+y+1=0

d 2x+y-1=0

Consider the following for the next two
(02) items that follow :

P(x,y) is any point on the ellipse
x2+4y2=1. Let E, F be the foci of the
ellipse.

57. What is PE + PF equal to ?
(a) 1
(b) 2
k&) -3
(d 4

21

58. Consider the following points :
A oj
2

(3 1)

2 L4

3. [, ==
Fa

(3 1)

Which of the above points lie on latus
rectum of ellipse ?

(a) 1 and 2 only
(b) 2 and 3 only
(c¢) 1 and 3 only

(d) 1,2 and 3

Consider the following for the next two
(02) items that follow :
The line y = x partitions the circle

(x—a)2 + y2 =a® in two segments.

59. What is the area of minor segment ?

(m-2)a*

OF

(- l)a2

® =

(m-2)a®

(©) >

(- l)a2

@ =

A — ASGT-B-GNL



60. TGS T SATFA T © ?

(3 -2)a®
4

(@)

(3m+2)a®
Ligmne v o
(37 —2)a?

2

©

(37 +2)a?

(d 5

T ST T A (02) T fore Pt
R f=r Sifse .

qa W 4(1, -1, 2) 3R BER, 1, -1)
M x2+y? +2% + 2ux+2vp+ 2wz —1=0
¥ =g & ¥ fog ¥
61. u+v+wiras R 2 ?
(@ -2
(®) -1
(© 1
(d) 2
62.7f P(x, y, z) M ® ¢ fog § A
PA% + PB? forwdh sRIeR § ?
(@ 15 |
(b) 14
(© 13
d) 65

ASGT-B-GNL - A
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R 3 AT QY (02) WAt & forg foreferfaa
‘Rﬁaﬂ'ﬁﬁm

q @t | R fiftg e g smaua
(2,-1,2)3ﬂ1(k,3,5)'§|ﬁ%@mm%

R AT € |

63. k AN FTR ?
(@) 4
(b) 2
() 1
W) =l

64. 38 W@ & iz squma == €, v oMt
@I W T R ?
@ (1,2, 10)
) (-1, -2, 10)
{c) (11,12, -10)
@ (11, 2, -10)

ST ST AT 3 (02) W F Ry Frefifed
R fomr $ifso .
aM A @ =37+3j+3k R T=/-%
R W AT b o WER R 25 =27
R axb=9c 2|

65. b ToFes ST € ?
(@) 3i+4j+2k
(b) 5i+27+2k
(c) 5i-2j+6k

(d) 3i+3j+4k



60. What is the area of major segment ?

(3m-2)a®

(a) g

(37 +2)a*

(b) 2

(3n-2)a®

L e

3n+ 2)a

Gr+2)a”
(d -

Consider the following for the next two
(02) items that follow :

Let A(1, -1, 2) and B(2, 1, 1) be the end
points of the diameter of the sphere
x* +y2 +2% + 2ux +2vy+2wz—1=0.

61. What is u +v+w equal to ?
(@ 2
() -1
() 1
d 2

62. If P(x, y, z) is any point on the sphere,

then what is P42+ PB? equal to ?
(a) 15
b) 14
5o

@d 65

23

Consider the following for the next two
(02) items that follow :

Consider two lines whose direction ratios
are (2, -1, 2) and (k, 3, 5). They are inclined

T
at an angle —.
5 4

63. What is the value of £ ?
(a) 4
(b) 2
(C) X
@ -1

64. What are the direction ratios of a line

which is perpendicular to both the
lines ?

@ (1,2, 10)
() 1,
) (11, 12,
-10)

2,10}
~10)
@ (11,2,

Consider the following for the next two
(02) items that follow :

Let @=3i+3j+3% and C=j—k. Let

—

be such that Z-_b_)=27 and E)x?;=9c

B
b

65. What is b equal to ?
(a) 31+47+2k
(b) Si+2j+2k
(c) 5i-2j+6k
(d) 37+3/+4k
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66.(2+Z’)3ﬁ1?aﬁ§ﬁ?7ﬂmm%? (©) 16

81
W) = |
32
¢ @ 5
T
b) 3 ,
SR 3 =1t 2 (02) W % forg Feforfe
e 2 q?ﬁﬁﬂ'(ﬁﬁl'q
©
1 fogatt 4 ok B fRfe wfew wosn: 7- 7
o = R j+k B

IR AW AT o (02) Wt F forn FrafiRea 69. Frafefea fagelt w e $iftr -
R fomR ifsm .

- [T & LU Y
A g T afewr 5)=414—8f+l/;, % ¥,z 2. (-1,3,2)
&t it e feamsit & @ wEa: o, B, y e
I ST R | ; 3.(=2, 5, 3)
B S g 3 -4 g 4 oK 5
i . S At a1 w o # 7
1
@ 3 (a) a9 1 3R 2
4
® 3 (b) Fae 2 3R 3
3 (c) sae 133
(© 9
| (d 1,23R3
2
(d) 3 e
70. AB a1 AT 471 § ?
68. cos2f + cos2y Toreh sRTeR © ? (@ 2
32 (b) 3
(a ~31 .
© 6
_16 4
S @ 3

ASGT-B-GNL - A 24



66. What is the angle between (?i’+77)) and

c 9

(a)

(SR

(®)

w|

4
© %

@ %

Consider the following for the next two

(02) items that follow :

Let a vector a =41 —8f+l?: make angles
a, B, y with the positive directions of

x, ¥, z axes respectively.

67. What is cosa equal to ?

1
(a) 3

2
® 5

2
© 3
2
@ 3

68. What is cos2f + cos2y equal to ?

_32

@ ~4
16

(b) 31

25

©

@ 4

16
81

32

Consider the following for the next two
(02) items that follow :

The position vectors of two points 4 and B

are i—J and J +k respectively.

69.

70.

Consider the following points :
1. -1,-3, 1)
2. -1,3,2)
3.(-2,5,3)

Which of the above points lie on the
line joining 4 and B ?

(a) 1 and 2 only

(b) 2 and 3 only
(c) 1 and 3 only

() 1,2 and3

What is the magnitude of AB ?
(@) 2

(b) 3

© 6

d 3
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WM FW AW AW (03) wWi F Frg o a@™ @ (02) W ¥ frw FrafiRed
o w faw $iftr - R fErR fif

AH NG f(x) = Pe*+ Qe + RS, wei  HM WNQ £ V@1 Eehd @R @ S

P,Q,Rarmﬁa;m%|3§a;aﬁrﬁﬁ; ﬁ-ﬁy2=2a+2cﬁ3ﬁﬁﬁﬁﬁm

In2 ®, 8l ¢ T& EATHS U € |
F(0)=6, f'(In3)=282 3K jo fx)dx=11

74. T8 FqHA FHIE A Ffe (order) FT

7. QF AM FE ? !
(@ 1
(@) 1 ®) 2
(b) 2 () 3
© 3 d 4
@ 4 75. 38 e GHIERUT Y UG (degree) FT
g7
T2.REAAFTE ? @) 2
®) 3
i © 4
(b) 2 (d) wma & fere 7@ §
() 3 W W T A (03) W ¥ fru
Frafafes w® e $iftg .
d 4
cogY ~xil ]
I g f(x)=|2sinx x*> 2x
73. £(0) foras TR @ 7 tan ol
@ 18 76. £(0) foreer SRR ® 2
(b) 16 (@ -1
(®) 0
{¢) 15 © 1
(@ 14 - @ 2
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Consider the following for the next three Consider the following for the next two
(03) items that follow : (02) items that follow :

Let f(x)= Pe*+Q 2% + Re3* wher-e P, 0 Suppose E is the differential equation repre-
R are real numbers. Further £(0)=6, senting family of curves y2 =2cx +2ce

£'(In 3) = 282 and J'1”2 f(x)dx=11 where ¢ is a positive parameter.
0
74. What is the order of the differential
equation ?
71. What is the value of O ?
: (@ 1
(a) 1 () 2
o (© 3
© 3 d 4
75. What is the degree of the differential
d 4 equation ?
(@) 2
72. What is the value of R ?
(b) 3
(@ 1 ) 4
(b) 2 (d) Degree does not exist
(c) 3 Consider the following for the next three
(03) items that follow :
-l easx x 1
Let f(x)=|2sinx x* 2x
73. What is £/(0) equal to ? tanx x 1
(a) 18 : 76. What is f(0) equal to ?
(b) 16 | (o) =4
() 0
¢) 15
(c) © 1
(d) 14 d) 2
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77. lim £ fes wmre 7
@ -1
(®) 0
(© 1

(d) 2

78. lim %) fra¥ w2 2

x—0 xz

(a) -1
() 0
) 1

d 2

AW AW T T (02) WA & forg Frafrfaa
R =R fifse .

A\ T £ (x) = sin[z> Jx + cos[-n2 ]x &l
[.] & weaw Uiteh e § |

79. f(%) foress R ® 2
@) -1
(®) 0
© 1

d 2

ASGT-B-GNL - A
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80. f(%) forme s 2 7

(a) B s

®) -1
© 1
ol

d 2

I FM A A (03) wWi ¥ forg
Freafafes w fmr $ifs .

T

mFﬁﬁQI]=J‘ = —dx 3R

0 1+cos“x

/(4 1 .
12= ) dx%
0 1+sin“x

Il+12
*L-1,

81 FAA TG ?

(@) 1
b) ©

(c) n?

d n+1
@ N

82. 812 M AR TR ?
(@ =
) n*
(c) n

@@ =*



77. What is lim ) equal to ?
x—0 X
(@ -1
(b) 0
(c) 1

(d 2

78. What is lim AL, equal to ?
x—0 xz
(@ -1
() 0
(c) 1

d 2

Consider the following for the next two

(02) items that follow :

Let f(x)= sin[n2 Jx+ cos[—7t2 Jx where [.]

is a greatest ‘integer function
79. What is f (g) equal to ?
(a) -1
(b) 0

© 1

@ 2

80. What is f(%) equal to ?

1
(a) e 1
(b) -1

() 1

d N

Consider the following for the next three
(03) items that follow :

.

Let I =J.
y 01+coszx

dx and

T 1 dx
I =j ‘_
. 0 1+sin’x

L+,
81. What is the value of 7~ /4
1742

(@ 1
(b) =

(c) =*

w+1
-1

(d)

82. What is the value of 877 ?
(@ =
(b) =?
(c) =*
d =*
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83. I, AF HT & ? I FW A dW (03) W F fag

Frafafea ) fmr $ifsg .
(4
@ 5 A T f(x) =|Inx| x#1 %
T 86. x=0-5 T f(x) T FaHerS T & ?
G
(a) -2
n
oo -1
© N5 : (b)
(© 1
/(4
(d) W d) 2

'aﬁﬁaﬁmﬁa(oz)wﬁa:ﬁrqﬁ A 87.x=2 W f(x) & JaFe T § ?
\RﬁﬂRﬁﬁN 1

s (@) T
mwhﬁml:j @dx, a<b .
> (b) -1
84. | frEs SRR e 9@ a<0<bh B ? ;
@) a+b © 3
®) a-b d 2
G 7e 88.f0f(x)ﬂilaﬁaﬂﬁw%;'513il<x<2
(a+b) ' ??
d T :
1
(@) o
85.  fras TR e a<bhb<0® ?
1
e th (b) xilnx
(b) a-b ;
() b-a @ Inx
(a+b) ol
d) 2 @ xilnx
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83. What is the value of I, ?

Consider the following for the next two

(@)

Sl

LR
(b) 22

3

© 25

T
@ 35

(02) items that follow :

b
Let1=ja%dx, a<b

84.

85.

What is / equal to when a<0<5b?
(@ a+tb
(b) a-b

) b-a

(a+b)

@

What is / equal to when a<b<0?
@ atb
(b) a-b

(c) b—a

(a+b)
2

@

31

Consider the following for the next three
(03) items that follow :

Let f(x)=|Inx],x#1

86.

87.

88.

What is the derivative of f(x) at
x=057?

(@ -2
(b) -1
) 1

@ 2 .

What is the derivative of f(x) atx =2 ?
b

W3

() -1

:
g
@ 2

What is the derivative of fof(x), where
Ty g ?

1
(%) 7=

Inx

1
(b) xlnx

0 adoa

Inx

d -

xinx
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AW AW 9 QY (02) WA & forg Teafafea
x+6, x<1

A g f(x)={px+q, 1<x<2
5x, x=2

AR f(x) Haa ® |
89.p MAMHTE ?
(@ 2
(b) 3
(c) 4
@ 5

90.g FAF FTE ?
(@) 2
(b) 3
(c) 4
@ s
91.ﬁ==:ﬁ~1ﬁaaaw€iwﬁanaﬁﬁrq:
1. f(x)=Inx, (0, c0) ¥ TAT
2. g(x)= e"+e%, (0, o) & FHEHH B
ST FE A FN w1/ W R/ ?
(a) &ad 1
(b) Fae 2
(c) 13K 23t
d a%ﬁ_l,a‘é‘rz

ASGT-B-GNL - A
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92.

93.

94.

95.

sin?x &1 cos?x & HeH W Iaaharst FT
g7

(a -1

() 1

(c) sin2x

(d) cos2x

m<0 @fga m & T 7@ F fou
Jatait y=x, y=mx IR x=2 TR
IRag FTHA 3 F W 8 ?

cosec(x°) FT Jaeherst T § ?
(a) —cosec(x°) cot(x°)

(b) —%cosec (x°) cot(x°) *

(c) % cosec(x°) cot(x°)

(d) —T%cosec(x) cot(x)

Hah  FHIHT (Q)z—x@iw Ea|
dx dx

TR :

(@ y=2x

(b) y=2x+4

(© y=x2-1

__(x2—2)
@ y= 5




Consider the following for the next two
(02) items that follow : :

x+6, x<1
Let f(x)={px+q, 1<x<2
x, X2

and f(x) is continuous

89. What is the value of p ?
(@ 2
(b) 3
(c) 4
d 5

90. What is the value of g ?
(@ 2
(b) 3
(c) 4
@ 5

91. Consider the following statements :

1. (x) = Inx is increasing in (0, ©)

—

2. g(x) = e*+e* is decreasing in
(0, )

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

33

92.

93.

9.

95.

What is the derivative of sin?c with
respect to cos?x ?

(@ -1

b 1

(c) sin2x

(d) cos2x

For what value of m with m < 0, is the

area bounded by the lines y=x, y = mx
and x=2 equal to 3 ?

1
@ -3
(b) -1
3
©) 75
(@ -2
What is the derivative of cosec(x®) ?

(a) —cosec(x°) cot(x®)

b)) - -1%6 cosec(x°) cot(x°)

(©) %coscc(f) cot(x°) -

) —r;)-cosec(x) cot (x)

A solution of the differential equation

2
(i}i) —xd—y=0 is
dx dx

(@ y=2x
(b) y=2x+4
() y=x*-1

_(x*-2)
@ y= e
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96.

97.

e fa)=x2+2 IR g()=2x-3
&, T (f)(1) forash TR R 7

(a) 3
b) 1
(c) 2
d -3
®Aq f(x)=x+|x| S 9 (range)

T R ? Rl G| & Wi (Domain)
Ireafes TS T ageag ® ?

@ (0, )
(b) [0, )

@ Co,o)

98.

- (©

99.

(d) [1, )

e f(r)=x@x?-3) }, @A f(sin6)
foraes SRR B 7

(@)
(b)

—sin36
—cos360
sin30

(d) —sin46

lim >=%
x-——)5|x--5|

fros R ® ?

(a) -1
(®) 0
) 1
(d) o afer 78 2

ASGT-B-GNL - A
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100.

101.

102.

.
lim s ot frass R B ?
x—)lx3_.1

(a) -1

(b) -3

(©) 3

(d) = ferea @ R

U WU F WIEm R YERO A

14 3R 132 8 | o= # ¥ 9 oy
11, 16 3R 20 8 | 379 <Y Neqor Fa1 § ?

(a) 8315
®) 9 R 14
(c) 103K 13
(d 11 3R 12

AA T 4 3R B § @aa weq] =
TR g f6

P(4)=07, P(B)=k, P(AUB)=038
RlkwmamTm g ?

5
(@) 7

2 S

®)

©

NN

N -

@



96.

97

98.

99.

If f(x)=x*>+2 and g(x) =2x -3, then
what is (fg)(1) equal to ?

(@ 3
(b) 1
(c) 2

d -3

What is the range of the function -

f(x) =x + |x| if the domain is the set of
real numbers ?

@ (©, ®)
®) [0, @)
© (o, )
@ 1, )

If f(x)=x(4x*-3), then what is
f(sin@) equal to ?

@
(b)
©
@

—sin360
—cos360
sin30

—sin46

What is lim2—*

equal to ?
x—)5|x—5| q

(@ -1
(®) 0
(c) 1

(d) Limit does not exist

35

100.

101.

102.

9
What is lim X

equal to ?
x-1 21
(a) -1
(b) -3
(c) 3

(d) Limit does not exist

The mean and variance of five obser-
vations are 14 and 13-2 respectively.
Three of the five observations are 11,
16 and 20. What are the other two
observations ?

(@) 8 and 15
(b) 9 and 14
(c) 10 and 13

(d) 11 and 12

Let 4 and B be two independent events
such that

P(A4)=07, P(B)=k, P(AUB) =08.
What is the value of £ ?

5
(@) 35

(b)

<l

=S N

©

3| -

(d)
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103.

104.

10S.

@Hﬁﬂaﬁﬁaﬁﬁmﬁﬁa(head)
anﬁﬁuﬁaﬁn.}%, I 9K IS8Tl

WA ® | 39 G h wan Wik € fe
g T IR IV A UE (tail) AQ AR
I arg faa g ?

8L

® 53

81

W

81

© 25

by S
@ o2
T R 3@ weR aftma § fe s
R (head) I it GHEAT 92 (tail) I
H gwEe ¥ frt @ | R & SR
o 9Tl A wdd o e s &
FT WTRrehaT § ? :

81

¢ 256

27

il

27

(c) -2—5—8

9

i

wH T X 3R ¥ q aRfess W) W
¥R § & X+ ¥=100 % | 3l wrw
n =100 3R p = £ afeq x fug seq =
AL AT §, AT Y T R0 7§ 7

ASGT-B-GNL - A
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106.

107.

108.

d —

'qﬁx+4y+l=03ﬁ'(‘4x+9y+7=0
Y TPET @Y AT y=-3 QA
X & A 1R ?

() -13

®) -5

(© 5

@ 7

T& 99 91¢ (Pie Chart) & IR s
Gl (FFe) & F R p, g, r AR s
(fsft A) wew 9p=3g = 2r=65s M
I IA € | 4p—g N AW 12 ?
(a) 12

(b) 24

() 30

(d 36

4,1,4,3,6,2,1,3,4,5,1, 6 &0 12
T8l Y T 1Y ek S & IRom € |
afe m R M FAY: Ge@ B 8 Ve
IR o8 &S 4 Vewi F wew €, A
(2m + M) fras st=R § 7

(a) 10

(b) 12

fc) 17

(d 21



103.

104.

10s.

A biased coin with the probability of
getting head equal to i- is tossed five

times. What is the probability of
getting tail in all the first four tosses
followed by head ?

81

@ 312
81

15 pemed e
®) 1024
81
(c) —25_6
27

@ 1024

A coin is biased so that heads comes
up thrice as likely as tails. In four
independent tosses of the coin, what is
probability of getting exactly three
heads ?

81

(a) ﬁ

27

)=

27

® 75

P e

Let X and Y be two random variables
such that X+ Y=100. If X follows

Binomial distribution with parameters

n=100 and p = %, what is the variance
of Y?

37

106.

107.

108.

(@ 1
(b)

N | =

) 16

fa—y

)=

If two lines of regression are

x+4y+1=0 and 4x+9+7=0,

then what is the value of x when
=-37?

(a) -13

(®) -5

() 5

@) 7

The central angles p, ¢, r and s
(in degrees) of four sectors in a

Pie Chart satisfy the relation 9p =3¢ =
2r = 6s. What is the value of 4p—¢q ?

(a) 12
(b) 24
() 30
(d) 36
The observations 4, 1, 4, 3, 6, 2, 1,
3,4, 5, 1, 6 are outputs of 12 dices
thrown simultaneously. If m and M are
means of lowest 8 observations and

highest 4 observations respectively,
then what is (2m + M) equal to ?

(@ 10
(b) 12
e 17
d 21
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109. 7% foeR 3o W= # Faw @ fag

110.

111.

L DI G, 1A yH x|
FHTHA @1 T BRI ?

(@ x—-4+5=0
(b) 3x+2y-1=0
() x+4+1=0
(d 5x-4+1=0

TH YR & 10 IR IS @1 § 3R
fre o ye e €

121 271.4.6.5.4

%WW%ZT(data)ETWW
BRI ?

(@ 6
(b) 4
(c) 2
@ 1
frafafeq sReRar ded | =R
hfor :

x 1 2 3 3

golng g g Ny

Seq H Ay & 7 o @ 2
(@ 1
() 2
(c) 3
d 35

ASGT-B-GNL - A
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112.

113.

114.

d@L 14,3812 19019911
& fo, afe Muear 5 Qe it wfer
2 3R N aRed wim deon 6wt
S NAM-NFAFA TR ?

(a) 7

(b) 4

(c) 1

@ 0

M e fedt dem 5P=4Q=§
& g P, 0, R waw: wiem, wfer
IR wgos i frefm w=a €1 @

Pl
1 A AT BT ?
2P+07R B

L
12

(2)
1
M-

(©)

o N

—

(@

et 1,2,22,23, ..., 21, &1 IR
M G B, A 1+2log,G H HE T

g7
(@ 1
(b) 4
& a1

@ n



109.

110.

111.

A bivariate data set contains only two
points (-1, 1) and (3, 2). What will be
the line of regression of y on x ?

(@ x-4y+5=0

(b) 3x+2y—-1=0

(c) x+4y+1=0

d) 5x—4y+1=0

A die is thrown 10 times and obtained
the following outputs :

LG L 5,490 5.4

‘What will be the mode of data so

obtained ?
@ 6
(b) 4
(© 2
@ 1

Consider the following frequency
distribution :

PEREE
b e iaiat 7

What is the value of median of the
distribution ?

@ 1
®) 2
© 3
@ 35

39

112.

113.

114.

(©)

For data -1, 1, 4, 3, 8, 12, 17, 19, 9,
11; if M is the median of first 5
observations and N is the median of

last five observations, then what is
the value of 4M - N ?

@ 7
(b) 4
(© 1
@ 0

Let P, O, R represent mean, median
and mode. If for some distllg'bthion
R : +
=40 ==—, th hat is
A R S
equal to ?

1

(@) 12

®

~J | -

olN

d

B -

If G is the geometric mean of numbers
1,2,22,23 ...,2"] then what is the
value of 1+ 2log,G ?

@ 1
(b) 4
© n-1
@ n
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115.

116.

117.

)

gfe gemsn 1, 2,22 23, ..., 2+ &
TIHS WeT H § A1 n/H foras aer
e

@ 2=

2n+1

1

(b) 2 2,,_1

1
() 2+ =

1
@ 2—:'2—,, |
WFﬁﬁlﬂaWﬁxl,xz,x3,...x,,ﬁ
wifeasT P, Wiew Q SR Sgow R © |
i s= 3" @2x-a) &, S
A ~IAaH BN 5T g SRTeR 8
(@ P
® 2
(© 20
d R

T 4 3 e IR 2 @l R E,
A 7 2 g 3R 3 Fedt e € | A WA
e O @ free R g 49 | @ fem
SRR W WA A
Frrerrelt et R | o widreran @ TR ww e
qHe & ?

6
(@) 7
33
70
3
10
1
70

©

(@

ASGT-B-GNL - A

40

118. S 9@ %% o § | o wifkear © R

B W Fad 3 F O A, ?

1
(@ 6

(b) 18

1

() >

1
@ 3

119. ¥ Wiyt & 6 gk & 7w &

5 e B ?
(@ 1

(b)

(©)

NN N W B =

(d)

120. Tt 50 &Yl EEATs § ¥ Uh et

AT n FA S § | T WifeRar © R
n+5—’?-<50€f?

23

25

47

50

24

25

49

50

(a)

(b)

©

(d)



115.

116.

117.

If H is the harmonic mean of numbers
1, 2, 22 23 ..., 2" then what is
n/H equal to ?

1

2n+l

(a) 2-

1
2)1—1

(b) 2-

(c) 2+

2'!-1

1
(d) 2——2—;
Let P be the median, Q be the mean
and R be the mode of observations
X1,X9,X3,...X,. Let S = Z;':l(Zx,- —a)2.

S takes minimum value, when a is
equal to

(a) P

® 2

(© 20
@ R

One bag contains 3 white and 2 black
balls, another bag contains 2 white
and 3 black balls. Two balls are

drawn from the first bag and put it

into the second bag and then a ball is
drawn from the second bag. What is
the probability that it is white ?

6

(@ 7
33
70

3
10

1
70

(b)

(©)

(d)

41

118. Three dice are thrown. What is the

119.

120.

probability that each face shows only
multiples of 3 ?

1

(@) 3

18

s
27

(b)

©
1

(d B

What is the probability that the month
of December has 5 Sundays ?

(a) 1
(b)

(©)

(d)

NG S R R N [

A natural number 7 is chosen from the
first 50 natural numbers. What is the

probability that n + % <507?
23
25
4
50
24
25
b
50

(a)

(®)

(©

(d)
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